Chapter 17: Attitudes, Attributions and Social Cognition
100 MCQs
1.

Which one of the following statements about attitudes and attributions do we know to be true?

A.

Attitudes indirectly or directly affect behaviour in virtually every social interaction. 

B.

Attribution theory is an important field of investigation in cognitive psychology.

C.

Attribution theory refers to our tendencies to like or dislike something.

D.

The Austrian psychologist Fritz Heider saw the attribution process as an esoteric component of human thinking.

2.

Which is NOT an example of an attribution?

A.

Understanding your anger at a meeting

B.

Questioning why Manchester United failed to win the cup

C.

Maintaining employees’ dedication to work

D.

Deciding he got a good grade because he was lucky

3.

Which is NOT something that social cognition focuses on?

A.

People

B.

Objects

C.

Social groups

D.

Events

4.

Which of these assertions is NOT the case in terms of social cognition?

A.

Attitudes and attributions summarize vast amounts of information from our complex social world. 

B.

Many of the concepts and experimental methods central to the field of attitude research have been borrowed from work in cognitive psychology.

C.

Social cognition focuses on the perception and processing of physical stimuli. 

D.

Social cognition is concerned with the perception and processing of social objects.

5.

Identify the INCORRECT statement about measuring attitudes:

A.

An attitude can be recorded directly. 

B.

Attitudes can be expressed through many behaviours. 

C.

One approach to the study of attitudes is to examine one or more specific behaviours that are seen as directly reflecting attitude. 

D.

One approach to the study of attitudes is the self-report questionnaire, which asks participants to express their attitude towards the particular object. 

.
6.

All of the following are examples of behavioural measures of attitudes EXCEPT:

A.

Rating attitude towards immigrants from extremely bad to extremely good

B.

Observing the physical distance that a person seeks from an immigrant group

C.

Watching whether or not a person avoids eye contact with people from an immigrant group

D.

Examining when an immigrant group is present whether a person makes unpleasant facial expressions
7.

An important feature of attitudes is their ability to sum up several types of psychological information. But which of the following is NOT part of the three components model of attitude structure?

A.

Feelings.

B.

Beliefs.

C.

Intelligence. 

D.

Behaviour.

8.

Self-report measures _______.

A.

Are not affected by social desirability

B.

Have predicted a variety of behaviours in past research

C.

Are used when people’s ability to rate their attitudes is questionable

D.

Are never accurate in reporting attitudes

9.

Which of the following can be said to be true about the effects of beliefs?

A.

Persuasive messages such as advertisements cannot change people’s attitudes. 

B.

There is likely to be no difference in attitude towards a certain group between those who received positive information about them and those who received negative information.

C.

Second-hand information about others cannot have a powerful effect on our attitudes.

D.

Interventions to tackle prejudice encourage direct, positive interactions to change beliefs and reduce the prejudice. 

10.

When we think about the effects of feelings on attitudes, which of the following must be true? 

A.

Many advertisements link their product with positive feelings rather than focus on concrete information, but this technique has, as yet, been unsupported by research. 

B.

Research has been unable to unearth whether people come to like objects that are paired with positive stimuli more than those that are paired with negative stimuli.

C.

Objects that are presented with positive stimuli later elicit more positive attitudes. 

D.

None of the above.

11.

In one test of attitudes respondents are asked to decide whether an adjective is positive or negative, after seeing names of objects that a person might like or dislike. What is an expected outcome?
A.

Responses to adjectives with positive meaning are faster after seeing something they dislike

B.

Responses to adjectives with positive meaning are slower after seeing something they like

C.

Responses to adjectives with negative meaning are slower after seeing something they like

D.

Responses to adjectives with negative meaning are faster after seeing something they like

12.

What do researchers get by contrasting the speed of responses to positive and negative adjectives?

A.

A measure of a behaviour that predicts an attitude

B.
A measure of attitude that does not predict behaviour
C.

A measure of attitude that predicts behaviour
D.

None of the above

13.

What is a fundamental characteristic of a semantic differential scale?
A.

Respondents state agreement about a sentence on a continuum of strongly agree to disagree

B.

People check agreement of statements about an issue and a mean score indicates attitude

C.

Participants are given many scales that are averaged to form an attitude score

D.

Depict a strongly negative attitude on one end and a strongly positive attitude on the other

14.

Many things can influence an attitude, but what does an attitude influence?
A.

Cognition and Emotions

B.

Behaviours

C.

Both A and B
D.

Neither A nor B, an attitude is simply influenced by these things

15.

What happens to participants rated attitudes when they read positive information about an immigrant group?
A.

Their attitudes remained the same

B.

Their attitudes become more positive

C.

Their attitudes become less positive

D.

Their attitudes polarized towards what they already believed

16.

In a study, positive words were linked with the name ‘George’ and negative words were linked with the name ‘Ed’. How did participants respond when they actually met George and Ed?
A.

The liked George better

B.

They liked Ed better

C.

The liked them both the same

D.

They didn’t like either one

17.

Which statement concerning the effect of classical conditioning on attitudes is TRUE?
A.

People more clearly remember information that is paired with a negative stimulus
B.

It can lead to an association between affect and an attitude object

C.

It does not affect attitudes only behaviour
D.

It can only affect attitudes in a very specific context

18.

According to attitude research, why do new recruits stay in a social group that inflicts embarrassing and dangerous recruitment ordeals?
A.

They are afraid to leave

B.

They believe in the group, and so are willing to undergo anything

C.

The behaviour of submission leads to more positive attitudes

D.

None of the above

19.

How does role-playing affect attitudes?

A.

Receiving information through passive means effects more attitude change

B.

Role-playing does not effect any attitude change

C.

Role-playing creates a less favourable attitude towards the position you were forced to advocate

D.

Role-playing a behaviour can lead to attitude change

20.

What happens when a participant is required to role-play a counter-attitudinal advocacy?

A.

They become even more polarized towards their original attitudes

B.

Attitude change occurs when there is a large incentive

C.

They change their attitudes towards the position they advocated

D.

None of the above

21.

Ever since the beginning of attitude research, investigators have puzzled over the relation between attitudes and behaviour. Which of the following is true when it comes to measuring the attitude–behaviour link?

A.

Early findings raised some doubts about the ability of attitudes to predict behaviours. 

B.

LaPiere’s (1934) study into American prejudice against the Chinese revealed strong relations between attitudes and behaviour.

C.

Studies subsequent to LaPiere’s early research have not used such stringent procedures.

D.

Until 1982, researchers still found only weak relations between attitudes and behaviour.

22.

According to cognitive dissonance theory, why do people change their attitudes to match their behaviour?
A.

People guess their attitude from the behaviour they see themselves performing
B.

People feel an aversive tension when their behaviour is inconsistent with their attitude

C.

People’s attitudes don’t change; they just change their response to appear consistent

D.

Both A and B

23.

Which theory is most valid in its explanation of attitude-behaviour change?

A.

Self-perception theory is always more valid

B.

Cognitive dissonance theory is always more valid

C.

Cognitive dissonance occurs when people perform a behaviour that strongly contradicts initial attitudes

D.

Neither theory has been supported by modern research

24.

When LaPiere wrote to establishments in the 1930s about whether or not they would provide service to a Chinese couple, 92% refused admission. What happened when the young couple visited these establishments?

A.

89% of the establishments denied them any service

B.

All but one establishment provided service

C.

Half of the establishments provided service, but only in a limited way

D.

A quarter of the establishments had the couple arrested

25.

Which is NOT a methodological limitation that could explain why businesses recorded attitudes did not match their behaviour of providing a Chinese couple service?

A.

Attitude and behaviour were measured at different times and locations
B. 
Proprietors may have followed norms of hospitality in the couple’s presence
C.

It may have been difficult for proprietors to refuse for fear of an embarrassing scene
D.

None of the above
26.

Select the two INCORRECT statements from those given below, in relation to Fishbein and Ajzen’s (1975) and Weigel and Newmann’s (1976) work on attitude–behaviour correlations:

A.

Fishbein and Ajzen felt that past research often failed to measure a behaviour that directly corresponded to the attitude being measured. 

B

To better measure ‘general’ behaviour, Fishbein and Ajzen proposed the single-act criterion. 

C.

Weigel and Newmann found much stronger attitude–behaviour relations by taking an average measure of all of the behaviours, rather than any single behaviour.

D.

The multiple-act criterion involves measuring a large number of behaviours both relevant and irrelevant to the general attitude being studied. 

27.

According to the multiple-act criterion, why would looking at recycling behaviour be a poor measure of environmentalist attitudes?
A.

There are many reasons why a person may miss a week of recycling that are not related to their attitudes

B.

The measured behaviour is specific while the attitude object is more general

C.

It is not enough to measure only one behaviour that may be relevant to the general attitude

D.

All of the above

28.

There are many influences that can affect our social behaviour, making it very difficult to predict. But which of the following is NOT true?

A.

Ajzen developed a model of attitude–behaviour relations which claimed that actual behaviour is influenced by behavioural intentions.

B.

Behavioural intentions are defined as intentions to perform or not to perform a specific behaviour.

C.

According to Ajzen’s theory of planned behaviour, when attitudes and subjective norms support a target behaviour, and perceived control over the performance of the behaviour is high, intentions to perform the behaviour should be stronger.

D.

Research has made it clear that all important predictors of behaviour are encompassed by the theory. 

29.

According to the multiple-act criterion, what would be the most appropriate measure of pro-environmental attitudes?

A.

Recycling across several weeks

B.

Willingness to sign pro-environment petitions

C.

Tendency to pick up litter

D.

Measuring all of the above

30.

Which environmental behaviours have been found to show the largest correlations with attitudes towards environmental preservation?
A.

Picking up litter as an individual

B.

Signing petitions, picking up litter, and recycling

C.

Recycling over a course of 8 weeks

D.

Signing a number of petitions on offshore oil, nuclear power, and car exhaust

31.

According to the theory of planned behaviour, what is NOT something that intentions to perform behaviour is influenced by?
A.

Moral obligation

B.

Attitudes

C.

Perceived control

D.

Subjective norms

32.

According to the theory of planned behaviour when are people most likely to perform a behaviour?

A.

When a person has a strong desire to be similar to people important to him

B.

When people have formed strong intentions

C.

If a person thinks that that they can control whether or not the behaviour occurs

D.

Both A and C
33.

According to Fazio (1990): (please highlight all correct answers)

A.

Attitudes often influence behaviour through a spontaneous process. 

B.

When attitudes are accessible, they come to mind before we see the attitude object.

C.

If an attitude doesn’t come to mind, it doesn’t influence our behaviour. 

D.

Attitudes exert a stronger influence on behaviour when they are accessible than when they are difficult to retrieve. 

34.

What will determine whether or not you buy ice cream as you walk passed an ice cream shop?
A.

You spontaneously recall your passion for ice cream

B.

Your attitude about how ice cream is inaccessible

C.

Your attitude about how ice cream is easily accessible

D.

Both A and C

35.

Which if the following is NOT an example of an attitude function?
A.

Object appraisal

B.

Externalization

C.

Internalization

D.

Value expression

36.

Attitude functions allow us to _____.

A.

Dissociate from people we like

B.

Express self-concepts

C.

Protect the self from external aggressors

D.

Itemize individual attributes about objects

 37.

Highlight the FALSE answer:

A.

Attitude functions can be defined as the psychological needs that attitudes fulfill.

B.

The sartorial adjustment function provides the basis for the entire fashion industry. 

C.

In the earliest model of attitude change, Hovland, Janis and Kelley (1953) suggested that persuasive messages change people’s attitudes when they highlight some incentive for this change. 

D.

Hovland et al.’s (1953) theory suggests that processing of any message must occur in at least three stages if it is to be successful. 

38.

If a Nike ad has an 80% chance of success at each of the six stages of message processing, what are the odds that it will successfully complete all stages and affect your attitude?
A.

26%

B.

47%

C.

80%

D.

100%

39.

According to Hovland, Janis and Kelley’s (1953) theory of attitude change, which of the following is NOT a stage in the processing of a successful message?

A.

Paying attention to the message.

B.

Considering all aspects of the message. 

C.

Comprehending the message.

D.

Accepting the message’s conclusions.

40.

According to McGuire’s information processing approach to persuasion, when will a message elicit a desired behaviour?

A.

If a person attends to a message

B.

If the message succeeds at all 6 stages

C.

If a message can change a persons attitude

D.

If a person understands the message

41.

Which of the six stages of information processing is the most difficult to succeed in?

A.

Presentation

B.

Comprehension

C.

Yielding

D.

Retention

42.

Which of the six stages of information processing do marketers NOT have a direct route to success?

A.

Presentation

B.

Attention

C.

Comprehension

D.

Behaviour
43.

What will NOT strongly affect a person who is not motivated to process a message? 
A.

Presenter’s attractiveness

B.

Expert source

C.

Strength of the arguments

D.

Both A and B

44.

Which does NOT predict whether or not the ability to process a message is high?

A.

People are not distracted

B.

People find the message relevant

C.

People possess high cognitive skills

D.

Both A and B

45.

What happens when a personally relevant message contains ambiguous arguments?

A.

People may be more persuaded by source expertise
B.

People will rely on the strength of the message

C.

People will not rely on the attractiveness of the presenter

D.

People will not rely on arbitrary and extraneous cues

46.

Which of the following statements apply to both the elaboration likelihood model AND the heuristic–systematic model? (Please highlight all correct statements.)

A.

Both are among the oldest models of persuasion.

B.

Both predict that the effects of persuasive messages depend on people’s motivation and ability to think carefully about them. 

C.

Both suggest that high personal relevance causes people to use environmental cues when the message arguments themselves provide no clear conclusions.

D.

Both propose that motivation is high when the message is relevant to personal goals and there is no fear of being wrong. 

 47.

In terms of Heider’s (1958) and Jones and Davis’ (1965) early theories of attribution, which of the following statements is accurate?

A.

Heider differentiated between two types of causal attribution – personal and situational. 

B.

Heider noted that we tend to overestimate situational factors and underestimate internal factors when explaining behaviour.

C.

Jones and Davis found that we tend to make a correspondent inference about another person when we are looking for the consequence of their behaviour.

D.

According to Jones and Davis, the tendency to make correspondent inferences is motivated by our need to view people’s behaviour as unintentional yet predictable.

48.

What is NOT an example of a personal attribution factor?
A.

Motivation

B.

Economic status

C.

Ability

D.

Effort

49.

Which is NOT a situational factor that we might attribute to why a particular student failed an exam?

A.

She had good tuition

B.

She had access to the library facilities

C.

She has poor academic aptitude

D.

She did not have sufficient time to study

50.

What is a correspondent inference that we might make about someone’s violent behaviour?
A.

They were abused in childhood

B.

The other person deserved it

C.

I misunderstood their behaviour
D.

They have an aggressive personality

51.

Correspondent inferences ______.
A.

Are always straightforward

B.

Do not rely on ambiguous information

C.

Can require us to draw on environmental cues

D.

Are never made based on another’s personal choice
52.

Which are true? According to Kelley’s (1967) covariation model of attribution: (please highlight all true answers)

A.

People weigh up several factors when attributing causality. 

B.

Before two events can be accepted as causally linked, they must co-occur. 

C.

The covariation of events and behaviour must be assessed across two important dimensions: consistency and distinctiveness.

D.

Different combinations of information always lead to the same causal attributions.

53.

What would lend evidence to the belief that John laughing at a comedian is a consistent behaviour?

A.

John never laughs at comedians

B.

John always laughs at this comedian
C.

John is easily amused by comedians

D.

No one else laughed at the comedian

54.

What would lend evidence to the belief that Jane eating spicy food is distinct?
A.

Jane always enjoys spicy tacos

B.

Jane eats spicy food for lunch every day

C.

Jane never eats spicy food unless she has to

D.

Most of Jane’s friends like spicy food

55.

What would lend evidence to the belief that jumping off a bridge has high consensus?
A.

If you jump off a bridge quite often

B.

If you enjoy jumping off of bridges

C.

If your friend jumped off a bridge too

D.

If everyone else was doing it

56.

Which would lead you to make an internal attribution?

A.

High consistency, low distinctiveness, high consensus

B.

High consistency, high distinctiveness, high consensus

C.

High consistency, low distinctiveness, low consensus

D.

None of the above

57.

When does bias occur in the attributional processes?
A.

If the social perceiver systematically distorts correct procedures

B.

If a social perceiver over-uses logical procedures

C.

If a social perceiver under-uses logical procedures

D.

All of the above

58.

When given an essay about supporting Castro’s Cuba, students were told that the writer had no choice in the position that the writer took. What did students think about the writer after reading the essay?
A.

That they could not make a decision about the writer’s stance

B.

The writer was against Castro

C.

That the writer supported Castro

D.

None of the above

59.

Which of these is true of the fundamental attribution error (FAE)?

A.

The FAE is defined as the tendency to underestimate the role of internal factors, and to overestimate the role of external factors, in assessing behaviour.

B.

Heider put forward a largely physiological explanation for the FAE.

C.

Heider suggested that what we notice most in behaviour and communication is the person who is central to both. 

D.

The FAE is so-called because it is fundamental to all cultures.

60. 

Which of the four statements below is NOT true of the actor–observer effect (AOE)?

A.

We attribute other people’s behaviour to situational factors, and our own behaviour to dispositional factors. 

B.

The AOE describes how we make behavioural attributions. 

C.

Psychologists are more likely to attribute their clients’ problems to internal stable dispositions, whereas the clients are more likely to attribute them to situational factors.

D.

There are several competing explanations for the AOE.

61.

Which feature most dominates our perceptual field?
A.

Social context

B.

Social roles

C.

Situational pressures

D.

Actor behaviour
62.

Below are some assertions about perceptual salience and situational information. But which is FALSE?

A.

The perceptual salience hypothesis argues that actors and observers have different points of view. 

B.

According to the perceptual salience hypothesis, actors make dispositional attributions for their own behaviour while observers make situational attributions for the same behaviour. 

C.

The situational information hypothesis focuses on information.

D.

According to the situational information hypothesis, actors have more information about the situational and contextual influences on their behaviour, including its variability and flexibility across time and place.

63.

According to perceptual salience, if you are standing next to your friend, Tim, and watching Tim talk to George, who is standing across from both of you, what would you surmise about the conversation?
A.

They were equally influential

B.

Tim was most influential

C.

George was most influential

D.

George’s behaviour was seen as more situational

64.

When a person in a conversation is made more salient due to lighting effects, what does perceptual salience say that the result will be?
A.

The person’s behaviour will be rated as situationally caused

B.

The person’s behaviour will be rated as dispositionally caused

C.

The person will be rated as being less influential to the conversation

D.

Both A and C

65.

According to the situational explanation of the actor-observer effect, what information do observers have about the actor?

A.

Nothing, unless they know the actor well

B.

The situational information that influences the actor’s behaviour
C.

The actor’s dispositional information

D.

Both B and C

66.

According to Weiner’s (1985, 1986) attributional theory of motivation and emotion, the attributions people make for success and failure elicit different emotional consequences, and are characterized by three underlying dimensions. But which of the following is NOT one of those dimensions?

A.

The locus dimension refers to whether we attribute success and failure internally or externally.

B.

The value dimension refers to whether the success or failure is important enough for us to invest emotion in it. 

C.

The stability dimension refers to whether the cause is perceived as something fixed and stable or something changing and unstable.

D.

The controllability dimension refers to whether we feel we have any control over the cause.

67.

According to the self-serving bias, what does the government attribute national economic growth to?
A.

International money markets

B.

Prudent financial management

C.

Worldwide recession

D.

Immigrant influx

68.

What factor is responsible for the self-serving bias?

A.

Motivational factors

B.

Self-enhancing bias

C.

Cognitive factors

D.

All of the above

69.

According to the attributional theory of motivation and emotion, ability is seen to be ____.
A.

Internal, unstable, controllable

B.

External, unstable, uncontrollable

C.

Internal, stable, uncontrollable

D.

External, stable, controllable

70.

How do we perceive task difficulty according to the attributional theory of motivation and emotion?

A.

External, stable, controllable

B.

External, unstable, uncontrollable

C.

Internal, stable, uncontrollable

D.

Internal, stable, controllable

71.

Regarding the depressive attributional style, which of the assertions below is INCORRECT?

A.

The tendency to attribute negative outcomes and failure to internal, stable and uncontrollable causes is strongly associated with schizophrenia. 

B.

The reformulated learned helplessness model of depression views the depressive attributional style as directly causing depression. 

C.

It has been argued that the depressive attributional style is a symptom of depression.

D.

In attributional retraining programmes, people with depression are taught to make more self-enhancing attributions.

72.

The ultimate attribution error (UAE) demonstrates how the self-serving bias operates at the group level. Which of the following are also true of UAE? (Please highlight all true answers.)

A.

We tend to make attributions that protect the group to which we belong. 

B.

Intergroup relations shape the attributions that group members make for the same behaviour by those who are in-group and out-group members. 

C.

In Hunter et al.’s 1991 study in Northern Ireland, Protestant students attributed their own group’s violence to external causes and the opposing group’s violence to internal causes, while Catholic students did not.

D.

Research has shown that both men and women are more likely to attribute male success to ability and female success to effort and luck. 

73.

According to the ultimate attribution error what leads to derogating attributions of disliked out-groups?
A.

Prejudicial attitudes

B.

Internal attributions of positive behaviour
C.

External attributions of negative behaviour
D.

All of the above

74.

Which, if any, of these are true? Attributions are: (please highlight all true answers)

A.

Cognitive phenomena. 

B.

Social phenomena. 

C.

Cultural phenomena. 

D.

None of the above.

75.

What statement about the use of attributions in other cultures is TRUE?
A.

The fundamental attribution error is a universal cognitive bias

B.

People in western cultures place more emphasis on internal dispositions
C.

Collectivist cultures place less emphasis on external situational explanations
D.

People in non-western cultures do not make different types of attributions than in western cultures

76.

Non-western cultures tend NOT to ________.

A.

Be holistic

B.

Stress interdependence between person and social relationships

C.

Emphasize the central importance of the person

D.

Pay more attention to role obligations and situational norms
77.

In a cross-cultural study comparing attribution styles between American and Indian Hindus, what did Miller find?

A.

There was no cultural difference in attribution styles between older people

B.

Hindus made significantly less situational attributions

C.

Older Americans made fewer dispositional attributions

D.

There was a linear age increase in attributions for both samples

78.

Which TWO of the following are INCORRECT in relation to social schemas?

A.

Schemas are mental or cognitive structures that contain general expectations and knowledge of the world.

B.

A schema contains abstract knowledge about a particular social object, rather than specific examples. 

C.

A cognitive miser is someone who pays little heed to theories of social cognition. 

D.

Schemas are used to simplify reality and facilitate processing.

79.

What is NOT the purpose of social schemas?
A.

Influence the encoding of new information

B.

Guide memory for old information

C.

Create inferences about missing information

D.

None of the above

80.

Research into schemas has been applied to four main areas. But which one of the following is NOT one of the main types of schema?

A.

Situational schemas. 

B.

Person schemas.

C.

Role schemas.

D.

Self schemas.

81.

Many judgments, evaluations and inferences we make are said to be ‘top of the head’ phenomena, what does that mean?

A.

They are made using frontal lobe connections

B.

They took a lot of thought and consideration

C.

They are made with little conscious deliberation

D.

Both A and B

82.

What type of schema helps us to answer the question, ‘What type of person is he/she?’

A.

Role schemas

B.

Event schemas

C.

Self-schemas

D.

Person schemas

83.

Which statement about self-schemas is FALSE?

A.

Self-schemas are very dependent on context information

B.

Our self-schemas change based on the situation

C.

You only create schemas for your real self

D.

Self-schemas develop from salient traits and self-descriptions

84.

Which schema is responsible for stereotyping?
A.

Event schemas

B.

Role schemas

C.

Person schemas

D.

Self-schemas

85.

Event schemas allow us to ________.
A.

Anticipate the future

B.

Define who we want to be

C.

Understand the behaviour of new friends

D.

None of the above

86.

Categories are NOT _________.
A.

The first thing we employ before accessing schemas

B.

Less complex for social objects than inanimate objects

C.

Employed automatically
D.

There to help us impose order on the stimulus world
87.

Which of the following do we know to be true about prototype and exemplar-based models of social categorization? (Please highlight all true answers.)

A.

In a prototype model, the more features an instance shares with other category members, the more quickly it is identified as a member. 

B.

At any one time, people rely on either a prototype or exemplar-based model; a combination of both is not possible.

C.

In an exemplar-based model, the category is represented by specific and concrete instances of that category. 

D.

All of the above.

88.

Which of the following is a prototype of a politician?
A.

Bill Clinton

B.

Margaret Thatcher

C.

Someone who is publicity seeking, charming, cunning and ambitious

D.

Someone who is shy, indecisive, and avoids publicity

89.

Which one is right? In the hierarchical structure of a category:

A.

More specific categories of information lie at the top and more abstract and general categories at the bottom.

B.

A sub-type may comprise a number of super-ordinates.

C.

An example of a super-ordinate category could be ‘woman’. 

D.

All information is processed at the same level of abstraction.

90.

Which statement concerning the sub-types of super-ordinate categories is FALSE?
A.

A subtype of the category elderly could be ‘grandmotherly’

B.

Sub-types contain more detailed information than super-ordinate categories

C.

Sub-types deal with more concrete information

D.

It is easier to list prototypical features of super-ordinate categories

91.

After watching a video about a man and a woman having dinner, students were informed that the woman was a librarian. What piece of information were the most likely to recall?
A.

That they had a salad before the main course

B.

That the husband looked mousy

C.

That the woman wore glasses

D.

That the woman drank a beer

92.

Highlight the INCORRECT option, relating to how schemas work. Schemas:

A.

Are driven by theory.

B.

Facilitate memory.

C.

Use up a lot of energy. 

D.

Are activated when an emotion is cued.

93.

As an energy-saving device, what is NOT something that schemas help us to do?

A.

Allow us to determine the degree a stimulus is representative

B.

Provide short cuts by utilizing on heuristics

C.

Fill in missing information based on previous experience

D.

All of the above

94.

According to the subtyping model, what happened when students participated in a year-long interactive school-liaison programme with police-officers?

A.

Students realized that their negative stereotypes about police officers were wrong

B.

Student’s negative stereotypes about police officers became more polarized

C.

The officers in the programme were judged to be atypical of police in general

D.

The experience did not change any aspect of the student’s representation of the police

95.

When people are presented with new information that contradicts their stereotypes, which model has empirical evidence shown to best explain what is done with that new information?
A.

Book-keeping model

B.

Subtyping model

C.

Conversion model

D.

All have been found to be equally used depending on the circumstances
96.

Which, if any, of the following statements about the continuum model of processing are correct? (Please highlight all correct answers.)

A.

The continuum model of processing was put forward by Heider in 1970.

B.

We use category-based processing when the data are relatively important.

C.

A motivated tactician is the same as a cognitive miser.

D.

None of the above. 

97.

A motivated tactician does NOT ______.
A.

Rely solely on fast, non-strategic automatic processing

B.

Use strategies that are consistent with their motivations

C.

Process information based on their goals

D.

Make decisions based on situational requirements

98.

According to Devine (1989): (please highlight all correct answers)

A.

In-depth processing is controlled, while category-based perception can occur automatically. 

B.

The distinction between automatic and controlled processing can be applied to the activation of stereotypes. 

C.

Stereotypes are automatically activated in everyone and are equally strong for high and low prejudiced people. 

D.

Personal beliefs that challenge stereotypes are developed in equal measure by high and low prejudiced people.

99.

What distinguishes low prejudiced people from high prejudiced people?
A.

Low prejudiced people do not create stereotypes

B.

Low prejudiced people consciously develop beliefs that challenge stereotypes

C.

Low prejudiced people never act on stereotypes

D.

All of the above

100.

Which of the following is FALSE, regarding recent studies into the activation of stereotypes?

A.

Several studies support Devine’s claim that stereotypes of salient social groups are widely known and shared.

B.

There is widespread support for the claim that stereotypes are automatically activated equally for everyone, regardless of their prejudice levels. 

C.

According to some studies, stereotypes are not necessarily inevitable.

C.

Recent studies have shown that people’s attitudes and values inhibit the activation of stereotypes, both consciously and unconsciously.

